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B.A. F.Y. (Sem-I1)
Examination March / April - 2023
Sociology - IV Transformation in Social Institution

[Time: 1:30 Hours] [Max. Marks: 40]
Please check whether you have got the right question paper.

N. B 1) All questions are compulsory.
2) Use blue or black Pen only.
3) Use pencil for diagram.
4) Use of any Signs, attracting attentions is prohibited.
Q) d U= IS aul 1a=Th 3Te.
Q) Wad e fdhaT sieT U-eime aTuR 6]
3) ATHANTS! U=t dT ITUR FHR1al
¥) DIUTa] G&AYD T Hich Il GUT VAR Ul 311G

Q1 A. Answer multiple choice questions (attempt all) 05

WTelid Sguaid! Uy Wedl (94 ffard)
1) means a woman and a man living together without marriage.
A) Contract marriage C) Inter caste marriage

B) Live in relationship D) Widow marriage

50! f4aTe 7 Rl U Wi d Tehl JIUT Teh 0l B,
) PR [daTg %) STy faarg
9) foe 7 oz S) fagar faarg

2) Surrogacy act was passed in India in year
A) 2021 B)2012 C)2001 D)1955

W ST HRATd Tl Oy AT,
M) 0% T)R0R  H) 007 B) RUY

3) Homosexual marriage was first recognized in country.
A) India  B) Netherland C)US.A. D)U.AE

gaferft foaerar auys 7 =TT ARGl QUATd STe.
M URD §)ARGS P YL TIU ) JUS
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NITI Aayog was established in the year
A) 2014 B)2020 C) 1947 D) 2015

et sma=h - BINEIEI
3{) R0 d) Roxo D) RYHY ) R0W

In India type of economy found
A) Capitalism  B) Socialist C) Mixed D) All of above

YR TR SHITaRT 3@ Id.
o) YicaaRme! &) JHNERT O H)Hy ) RadTd

Answer in a sentence (attempt all) 05
What is single Parent family?

Who is the father of white Revolution in India?

What is contract farming?

Who is the world’s first test tube baby?

When was the Pradhan Mantri Pik- Bima Yojana Started in India?

T aradTd IR forgT (94 SfAar)

Q) Thdl UTeidh Pd Ul HT?

R) U Ydcshicid Sidh iUl SHTgd?

3) BRR el TEUIS HT?

¥) SRTTC® Ulgo! ¢ e oall v 3Tg?

Y) YR GUTTH Ui aHT Tiet<l goard Helt ol

Explain concepts / terms / units / events (any two) 10
(word limitation 60 for each answer)

1)
2)
3)
4)

Neo - liberal Economy.
Childless family.
Widow remarriage
NITI Aayog.

YH U1 / T/ U< / g1 Y O] (DIUds! GIF)
TS TN fHHM &o 2sg Hala)

9) T9-IeRHATATE! dTaw

?) SUdfRT Ped

3) fayar grfgarg
%) et SN
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Q4
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Attempt answer in short (any two) 10
(Word Limitation minimum 60 for each answer)

1) State the causes for rising age of marriage in India?

2) Explain the importance of new reproductive techniques in the family system?

3) State the disadvantages of homo- marriage Sexual

4) Explain the changing nature of marriage rituals.

PrSHITd I gl

(T TR M g0 2Meq Halan)

9) YRAId dledT [ddTg aaT! B0 i,

2) $¢d ATRd TdH Yo d3Td Tged T B,
3) A faargr o |,

¥) faarg fadid seod ey Wy &

Answer in Detail (any one) 10
(Word limitation minimum 200 for each answer)

1) What is Disintegration of family? state the Causes of disintegration.

2) Explain the changing nature of agriculture economy in India?

TR IR 18T ( PIuae! U)

(TS U4 fhaH 200 Tsg AT

?) Pcd [ddc U BT ? Hed [aue-rd! HRO G
?) YRATNS HH YT Igod Wy WF I,
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